©) [J)L—T : B] 1(%50 57K B

Bl & Hi ’i # FEL YL
1A FEER —E@J\%j& 3 11:07:18
217011 X ARERER/NVER 4 11:09:82
JiELL  EEE BEBINER 3 11:10:34
A4l EF INERRINER 3 11:12:65

[ )V—T : B] %%50m 5k B

[ETA e <IN ] R B FE AL
THUF  BRAER PH?EBIJ\%W 4 +1:00:13
2AH K% VER 3 11:06:63
KB Bt BEANER 3 DNS
NE Bl NEVNE 3 DNS

@ [JIL—T: C] ﬁ%SOmﬁp =C

B % 8l F R A FELYMAL
T Z2E \BNER 6 10:36:11
2 B BEANVER 6 10:37:26
3ifnEE =X ANRFNEERENFR 6 :0:38:66
AfFEE IXE I KEENER i H 10:44:47

@ [FIV—T : C] %%50m 5k C

IBAL: % §I e #7n  IFEIIAL
1IEM & EEEIJ\%V 6 10:33:36
22K EEEE/J\%?& 6 :0:39:43
3I&H BN #EIINVER 6 10:46:99
ARH &KX I=FRNER 6 10:47:26




